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1. Draw number disks to represent the following problems. Rewrite each in unit form and solve.
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6bones+ 2= ones
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6tens+2= k DA
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2. Draw number disks to represent each problem, Rewrite each in unit form and solve.

d. 6,000+2= (Y P0ROMAS
a. 12+3= I Ny 3 /] -
12 ones + 3 = _ L_“‘ ones ®@@@ @@ ®@ ®@®@
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b. 120+3=__Li_(>_ ,, .
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c. 1,200+3= Hb()
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3. Rewrite each in unit form. Solve for the quotient.

30tens+ 6= 5 tens

Y fens < 4 =
(o tens

45 fens = 5 =
9 tens

a. 800+2=400 b. 600+2 . 2 c. 800+4 d. 900+3
8 hundreds +2 = @hundf(jds 6d | 8 hundred&:q' q;’)U)"CIfC’(jS o B
4 hundreds 8 hUhdﬂ") S 2 /]Uhdfﬁds 3 hundreds
e. 300=+6 f. 240+4 g. 450+5 h. 200+5

20 fens =5 =

4 fens

3,600 +4

36 hundreds + 4 =

““_hundreds

j. 2,400+4

24 hundreds 54 =
(s hundreds

k. 2,400+3

24 hundreds = 3=

% hundreds

. 4,000+5

Yo hundreds =6
§ hundreds

4. Some sand weighs 2,800 kilograms. It is divided equally between 4 trucks. How many kilograms of sand

are

in each truck?

4C

2% hundreds 54 = 77 hundpre 43
Y\WE are 100 l<zlc>3mm.> sf sand o each

5. vy has 5 times as many stickers as Adrian has. Ivy has 350 stickers. How many stickers does Adrian have?

25 Yens =5

Cldrian

has

¥ T Yens
7O shelerS

6. Anice cream stand sold $1,600 worth of ice cream on Saturday, which was 4 times the amount sold on

Friday. How much money did the ice cream stand collect on Friday?

9= 4 hu
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1. Rewrite each in unit form. Solve for fiie guotient.
a. 600+ 3 =200 b. 1,280+ 6 c. 2,100+7 d. 3,200+8
g

Shondredss 3= |12 NUndedS 2@ = | 9 1 junelreds = 7%| 32 hundieds [+ 8=
;hundreds 2 hundreds '3 hundreds | Y hundreds

C

2. Huds/gn and’8 of his friends found a bag of pennies. There were 360 pennies which they shared equally.
How many annies did each person get?

3(& fens %?: q '%@)3
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1. Draw number disks to represent the following problems. Rewrite each in unit form and solve.

R olojoloNelo

6ones+ 3= 2_ ones
AW

e N ()
c. _ / | m
W ﬁuhdw o= 2_hundreds ‘!(Q @@ QDO

2. Draw number disks to represent each problem. Rewrite each in unit form and solve. O@O

a. 12+4= ?) ) GX@ (D@@
120nes+4-= 9) ones @WIS @

232 Thusonds

d. 6,000+ 3—2;000
(o thetsands

) kens e Bdens OO OO

\ (00 ) @@@
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¢. 1,2002=_300
17 %Uﬁ&f@&ﬁ +4= \%
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3. Rewrite each in unit form. Solve for the quotient.
a. 800+4=200 b. 900+3 c. 400+2 d. 210+3

shundreds 4= |Clhundreds = 3= |Hhundreds €2 | 2] teps = 37
#hundreds Bhundred ¢ 2 hundreds T tens
e. 200+ 4 f. 160+ 2 g. 400+5 — [n 3005
oemssar 5 | letes T2 | Uo tens T O | 36 Jens £5-
o g Yens § tens (o tens
i. 1,200+3 jo 1,600+ 4 k. 2,400+4 . 3,000+5
hundregss3= |l hondreds 2= | 20 hundieds 4= |36 hundreds 57
bohnaress s | hunded | hundreds

4. A fleet of five fire engines carries a total of 20,000 liters of water. If each truck holds the same amount of
water, how many liters of water does each truck carry?

10 thousgnds = O 7 4 Huusand
boeh bt Loy 1,000 L o) (6l <

5. Jamie drank 4 times as much juice as Brodie. Jamie drank 280 mL of juice. How much juice did Brodie

drink? 2% lens 2 2_/ - 7}0’)5

6. Adiner sold $2,400 worth of French fries in June, which was 4 times as much as it sold in May. How many
dollars’ worth of French fries were sold at the diner in May?

U hundreds =Y - (o _‘L)'Uh(/re(/,-ﬁ
F b ol 7g
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1. Divide. Use number disks to moal each problem.
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a. 3242 : \ b. 344+2
hund(@d‘;‘lﬁ’ﬁb Ones P H\mércds tens \emes
WRZLE4 P
‘ V/f)’/ // (/7/ -
‘ ¥ (4] o 8 O 29 3
#’gwao 8 P o
N | [ hundred o b
coeel oo gl s 5 ) s
¢ 7 opes
=162
c. 483+3 d..549+3
hundreds ] fens \oncs hundreds | tens ones
R b i e | e
/{767@ ’?ﬁﬁé\,%yﬁf )%2%/\\§} ﬁ;;i |\
y’ ¢ o y
) ® @ o 3 3 ){/ )/f/
e —
R Iﬁ.,uaw — ¢ :;ZOJ 8 © e
5] @ J
2 ; 5 v o W \'r; \‘ huno\rﬂfl V@ \,@L © » »og
| | e v e
J ong & ':)g 1:) § 9 v

Represent and solve division problems with up to a three-digit
dividend numerically and with number disks requiring decomposing
a remainder in the hundreds place.
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2. Model using number disks and record using the algorithm.

hundreds

a. 655+5
Number Disks . Algorithm
hupdreds | tens [ ones
. 7 - i iy /fl ; “, : A
/’7’{ r GA/%_.___.{Q);KHN // £
© Y7/
) ¢ 9 9 © ,
? e ,ﬁ_J,)hmﬂwd
¢ seo | o3 dmms
5 ‘ s X5 ‘ =} ‘ e :
o O ¢ ?) l
&) ¢ e l
b. 726+3
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Represent and solve division problems with up to a three-digit
dividend numerically and with number disks requiring decomposing
a remainder in the hundreds place.
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Divide. Use number disks to model ea

problem. Then solve using the algorithm,
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1. Divide. Use number disks to modgl each problem.

a. 346+2 . b. 528+2 \ 1
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Lesson 27: Represent and solve division problems with up to a three-digit
dividend numerically and with number disks requiring decomposing
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Model using number disks and record using the algorithm.

a. 648+4
Number Disks Algorithm / 2
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a remainder in the hundreds place.
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1. Divide. Check your work by multlp ing. Draw disks on a place value chart as needed.

a. 574+2 :’7 Z?Z b. 861+3 227
51 A,
G
| T
16
14
jiD
c. 354:2 /77 d. 35443 /lgf
e. 873:4 2}g g l f. 50145 //gy /e)
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Represent and solve three-digit dividend division with divisors of 2,

3, 4, and 5 numerically.
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i. 678+4 j. 955+4

59 RZ 738 RA

2. Zachfilied 581 one-liter bottles with apple cider. He distributed the bottles evenly to 4 stores. How
many liter bottles did each of the stores recelve? Were there any bottles left over? If so, how many?

Lesson 28: Represent and solve three-digit dividend division with divisors of 2, n
3, 4, and 5 nurnerically. engage
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1. Divide. Check your work by mul

Iylng Draw disks on a place value chart as needed.

a.

776+ 2

vV

77&

T

lb

5?8

b. 596 +3

3159
-3
- 27

U

ﬁZ

(9

X3
591

59%
59&

e

i Z

2. A carton of milk contains 128 ounces. Sara’s son drinks 4 ounces of milk at each meal. How many 4-
ounce servings will one carton of milk provide?
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47128

0 ,
. D )
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x Y
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Lesson 28: Represent and solve three-digit dividend division with divisors of 2, n
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Date: 1/6/14

This work Is licensed under a
3 B
© 2013 Commeon Core, Inc. Some rights reserved. cammencore.org (cc) BY-NC-SA Creative Commans Attribution-NonCommercial-ShareAlike 3.0 Unported License,




st COMMON co MATHEMAT(CS (

L

/

Date

1. Divide. Check your work by multlplymg Draw disks on a place value chart as needed

b. 795+3 /
L9 K§ﬁ¥§§

a. 378+2 |8

R
Nl ?9 795

c. 512+4

,7—
327 42
22 ~
e. 539:3 O \/ f. 862+5 oR2
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CORE

Represent and solve three-digit dividend division with divisors of 2,

3, 4, and 5 numerically. y
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g 498+3 | /,(9\0 h. 783+5 ' (2 /

i. 621+4 jo 531+4

169
201

20 l%
620 oz 528
)0 w2\ —X 531

2. Selena’s dog completed an obstacle course that was 932 meters long. There were 4 parts to the
course, all equal in length. How long was 1 part of the course?

II%% COMMON | ressonzs: Represent and solve three-digit dividend division with divisors of 2,
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1. Divide, then check using multiplication.

1§

a. 1,672+4

c. 6948+2

d. 8,949+4

e. 7,569+2

f. 7,569+3

M core ™™ [
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Represent numerically four-digit dividend division with divisors of 2,
3, 4, and 5, decomposing a remainder up to three times.
1/6/14




| 151 '“l'igq
g 7,955+5 \/ /SQI h. 7,574+5 57/579
5 5

T 25 |51
579557955 25 Py /

5 | 2
i 7,469+ 3 /JA /j. 9,956 + 4 Y Q 956
2489 7489

E 747 | 7756

N
s
;

< LB—- 0
2. e 1Y} (q
2] I
T
2, There are twice asthany cows as goats on a farm. All the cows and goats have a total of 1,116 legs. How

many goats are there.Z‘

Theg ane 93 jmib

2 COMMON | tesson2s: Represent numerically four-digit dividend division with divisors of 2, ny
ll%%%% CORE Date. 3,4, and 5, decomposing a remainder up to three times. engage 3G47
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1.

/
/

Divide, then check using multiplication).

/

a. 1,770+ 3

x 59
3/, 770
-5
21
21

00

0

590

K3

720

b. 8470+5

194
5 %, 470

L
3Y
80

16 94
5

§479

2. The post office had-an equal number of each of 4 types of stamps. There were a total of 1,784 stamps.
How many of each type of stamp did the post office have?
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Represent numerically four-digit dividend division with divisors of 2,
3, 4, and 5, decomposing a remainder up to three times.
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1. Divide, then check using multiplica

/,

n.

a. 2,464+ 4

4|2, 964

nn

V

b. 1,828+3 69 ﬂ]

X
3/,928
16
0L

=0
28

=27

I

c. 9,426+3

e. 5425+3

271L

e _z},._é
K 542
4

Ui
g

I%£€8%NON
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Lesson 29: @kﬂresent numerically four-digit dividend division with divisors of 2, /
3{ 4, and 5, decomposing a remainder up to three times.
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e 8427:3 9009 / h. 8426+3

3|GH2T  280] Z30FF%

02 _trZz
0 =0 y420
2

9 ’ N &/
e 4936 10 G170
13 + | )7 ¥ 3

PAS)
2. Atruck has four crates olz%ples Each crate has an equal number of apples. @ggr the truck is

carrying 1,728 apples. How many apples are in three crates?

U432 | Wbu a@-éz?é

/2/

o

.
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Divide. Check your solutions by n@nplying.
1. 204+4 2, 704=%3 2_
<5 234 R
4204 3704
oM 10
4 9
] E
A2
3. 627+3 4 407 + 2 Z
20 203 RI
3627 S0
02 A
0 o2
o7 07
=21
5. 760+4 O 6. 5,120+4 ‘#
J 28 (
1 4 5ug
4] 760 g
e |
K e
- 5
Ii%@% 88% MON Ef% %;éz ;Z::l:tn problems with a zero in the dividend or with a zero in h/g_ag_e ny 3.6.5
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9. 8313+4 10. 9,008 +3 ) ‘

11. 28 — (
a. Find the quotientgn(%remainder for 3,131+ 3. | ()L{3 R 2

=
3/3131
0

b. How could you change the digit in the ones place of_t,\egwhole so that there would be no remainder?
Explain how you determined your answer., —

I

e 5-Lx |5

I

2 dor 12
%“W COMMON Lesson 30: Solve division problems with a zero in the dividend or with a zero in n
([ Rt g, engage™
Date: 1/6/14

D 2013 Comman Core, Inc. Some rights reserved, cammoncore.otg

3.G.5




Divide. Check your soilutions by multiplying,

1. 380 +4 2. 7,040 +3

/03¢

A
7040

COMMON Lesson 30: Solve division problems with a zero in the dividend or with a zero in ny
CORE the qotient engage 3.6:5
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Divide. Check your solutions by multfplying.

1. 409+5 2. 503+2

| g | 503
51104 Ry ZL 25]
i T 0.

3. 831+4 4, 602+3

240 246 : 1250
X 3 5 (QZSO
3 ﬁZ/O ?/2—5 ‘e (:_2‘—\255
o | L

IEES COMMON E—

- Lesson 30: Solve division prablems with a zero in the dividend or with a zero in
« CORE
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9. 6,218+4 10. 8,000+ 4

' ;&%@% COMMON | Lesson30: Solve division problems with a zero in the dividend or with a zero in ny
‘. CORE the quotient, enga.ge 3.G.6
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A # Correct

Divide. ,
1 B+2= 3 23| 300+5= (00
2 60 +2= 30 24| 3000+5-= (0,000
3| 600+2= 300 25 16 + 4 = Y
4| 6000+2= 3000 |26| 160+4= L6
5 9+3= 3 27| 18+6= 3
6| 90+3= 30 28| 1800+ 6 = 300
7| 900+3= 300 29| 28+7= Y
8| 9000+3= 3000 30| 280+7= 40
9 10+5= Z 31 48 + 8 = (o
10| 15+5= 3 32| 4800+8= (00
11| 150+5= 30  |33| 6300+9= 700
12| 1500+ 5= 3060 34| 200+5= 10
13| 2500 +5= 500 |35 50+7s= 0
14| 3500+5 = 600 36| 7200+9= £b0
15| 4500+ 5 = 900 37| 480+6= '10)
16| 450+5= 90 38| 5600+ 8= 700
17| 8+4s= 2 39| 400+5= §0
18| 12+4= 3 40| 6300+7= G060
19| 120+4= 30 41| 810+9= 90
20| 1200+4 = 300 42| 640+8= g0
21| 25+5= 5 43| 5400+ 6 = 700
22| 30+5= (0 44| 4000+ 5= §00

© Bill Davidson
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B e Improvement # Correct _____
1 4+2= Z 23| 200+5= Ho
2 40 + 2 = 20 24| 2000+ 5= 400
3| 400+2= 200 25| 12+4= 3

4| 4000+2= 2000 26| 120+4-= 30

5 6+3= 2 27| 21+7-= 3
6 60 + 3= Z0 28| 2100+7 = 300
7 600 + 3 = 200 29 18 + 6 = 3
8 | 6000+3= 2000 30| 180+6= 30
9 10+ 5= 2 31| 54+9= o
10| 15+5= 3 32| s400+9= | (00
11| 150+5= 30 33| 5600+ 8= 700
12| 250+5= 50 34| 300+5= 6O
13| . 350+ 5= 70 35| 490+7= 70
14| 3500+5= 700 36| 6300+9= 700
15| 4500 +5 = 900 37| 420+6= 70
16| 450+5= 90 38| 4800+ 8= 600
17| 9+3= 2 39| 4000+ 5= §00
18| 12+3= y 40| 560 +8 = 70
19| 120+3= 40 41| 6400+ 8= 800
20| 1200+3= 400 42| 720+8= 70
21| 25+5= 5 43| 4800+ 6 = 500
22| 20+5= 4 44| 400+5-= g0

© Bill Davidson
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Interpret division word problems as either number of groups
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Draw a tape diagram and solve. The first twp tape diagrams have been drawn for you. Identify if the group
size or the number of groups is unknown.

1. Monique needs exactly 4 plates on each table for the banquet. If she has 312 plates, how many tables is
she able to prepare?

312 4/3]2 pupole 18 tabdes .

2. 2,365 books were donated to an elementary school. If 5 classrooms shared the books equally, how many

books did each class receive? ‘ 73 &WL .
2.365 5 2,3 e m
A -0 113 -

4 N\ __._3—-(0 ' .
2 ;3% WWWM Unknoun
%

3. £ 1,503 kilograms of rice was packed in sacks weighing 3 kilograms each, how many sacks were packed?

i COMMON | tesson3y Interpret division word problems as either number of groups n
l /5% CORE unknown or group size unknown. eng ag e y 3.G.6
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4. Rita made 5 batches of cookies. There were a total of 2,400 cookies. If there were the same number of
cookies in each batch, how many cookies were in 4 batches?

[ 2%0 ] 5 /2,400 150
T 222 27

&
H
:

1,005
5. Every day, Sarah drives the same distance to work and back home. If Sarah drove &@'Q miles in 5 days,
how far did Sarah drive in 3 days?

20|
X

1,605

Il%ii’w‘@ COMMON | tessonsi: Interpret division word problems as either number of groups

WCORE | unoumorgtysee inkrown engage™’ s
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4. A piece of ribbon 876 inches long was cut by a machine into 4-inch long strips to be made into bows.
How many strips were cut?
219

Y /870
K
07

- "”(Au/'lk/lw/ﬁ
29 o o (G

5. Five Martians equally share 1,940 Groblarx fruits. How many Groblarx fruits will 3 of the Martians
receive?

) WO T gop 0*7/‘ "

LU o
194
5,3% 388
o
3 s el pisie gy i
oy qoblost fuss
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Solve the following problems. Diaiv tape diagrams to help you solve. If there is a remainder, shade in a small
portion of the tape diagram to répresent that portion of the whole.

1. A concert hall contains 8 sections of seats with the same number of seats in each section. If there are 248
seats, how many seats are in each section? 3 }

Thow o S|
[ aug , X//IZ—LTX peets (o LA
B \\\\ | ‘2%% uu@;f

2. In one day, the bakery made 719 bagels. The bagels were divided into 9 equal shipments. A few bagels
were left over and given to the baker. How many bagels did the baker get?

719 _lv s X/ ﬂx‘

e mand ef
Tof s 79 X’z&?@
g

3. The sweet shop has 614 pieces of candy. They packed the candy into bags with 7 pieces in each bag.
How many bags of candy did they fill? How many pieces of candy were left?
JM{ ? b&%@

X 3 185 T
LI i 'C N

/:]5 b’gMQ 12 6);

Lesson 32: Interpret and find whole number quotients and remainders to solve ny
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4. There were 904 children signed up for the relay race. If there were 6 children on each team, how many
teams were made? The remaining children served as referees. How many children served as referees?

- 15084
[‘” l sobun j& Q}\CJ‘OL’\ 150 o

| (Cimainder Ag W B l Mag

30 @wz,t

5. 1,188 kilograms of rice are divided into 7 sacks. How many kilograms of rice are in 6 sacks of rice? How
many kilograms of rice remain? '

.__.:.—‘DQ

qam——
¢ iy
mmp————

i’(’mcmagiee‘ / T4 "D

o 48 ’;’JQ] 4

Lesson 32: Interpret and find whole number guotients and remainders to solve ny
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Solve the following problems. Dr!(z/ tape diagrams to help you solve. If there is a remainder, shade in a small
portion of the tape diagram to represent that portion of the whole.

1. Mr. Foote needs exactly 6 folders for each fourth grade student at Hoover Elementary School. If he
bought 726 folders, how many students can he supply folders to?

e /“’“ o coon oy %
\(4" W @ @7/7@ L? ‘ Q/t(;wiub@

g N 7 (WA éfcf&(aw

12
2. Mrs. Terrance has a large bin of 236 crayons. He divides them equally among four%lontamers How many
crayons does Mrs. Terrance have in each container?

/)”m [utaner oo 59 m«;pm )
U Qe u}wb&wuk

COMMON | tessonsz: Interpret and find whole number quotients and remainders to solve
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Solve the following problems. Drayyjtape diagrams to help you solve. If there is a remainder, shade in a small
portion of the tape diagram to represent that portion of the whole.

1. Meneca bought a package of 435 party favors to give to the guests at her birthday party. She calculated
that she could give 9 party favors to each guest. How many guests is she expecting?

v s
i P ;
q j/@[) M("'n (M L
2l Cxpectin () s
15 M e

2. 4,000 pencils were donated to an elementary school. If 8 classrooms shared the pencils equally, how
many pencils did each class receive?

« 500

g-/éﬁ()@ y 500

3. 2,008 kilograms of potatoes were packed into sacks weighing 8 kilograms each. How many sacks were
packed?

- B

e

EpE————

PR
i 3\ P A B
251 nowkn o A

‘{),O,c)&,d .

2 COMMON | tessons2; Interpret and find whole number quotients and remainders to solve O
. CORE one-step division word problems with larger divisors of 6, 7, 8, and 9. engage ny 3.G.8
o Date: 1/6/14 2.9-2

. . . This work Is ficensed under a
© 2013 Common Core, Inc. Same rights reserved. eammenicore.org BY-NC-SA Creative Commans Attribution-NonComemercial-ShareAlike 3,0 Unported License.




4. A baker made 7 batches of muffins. There were a total of 252 muffins. If there were the same number of
-muffins in each batch, how many muffins were in a batch?

252

1]

&,%l"imuwwwc 7 ‘ s

5. Samantha ran 3,003 meters in 7 days. If she ran the same distance each day, how far did Samantha run in
3 days?

s

mealle  Adn Y287 e

3
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1. Ursula solved the following division/pfoblem by drawing an area model.

100 {00 20 3
4 Y00 ) Yoo /80 /'i/
'y,
a. What division problem did she solve? X(’ /7 ')

b. Show a number bond to represent Ursula’s area model and represent the total length using the
distributive property.

’zz;/,(,\ =
(490 %’)%6 3%045 (254)

- 2273

2. a, Solve 960 + 4 using the area model. There is no remainder in this problem.

AN 6

1 \ 700 s 0 q60 4 = 240

R s

b. Draw a number bond and use the long division algorithm to record your work from (a).

CI@Q )

[ SR v/

(ﬁioaw i e (160 =t e
200 + HO “"“‘mﬂg")

«xf}%‘ COMMON Lesson 33: Explain the connection of the area model of division to the'lofg
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3. a.Draw an area model to solve 774 + 3,

200 50

5

51400 ) 150 //}i/

b. Draw a number bond to represent this

problem.
Jahg

| 0 '3@)
((900-%% %\ t

BIKE
= Q00 T
- 25§

50

TIHE3-258

¢. Record your work using the long division
algorithm. 75 (S/

3774
o
V]
,QH
7Y
Yy

ot
b

4. a.Draw anarea model to solve 1,584 + 2,

W o

YRR ) 190

b. Drawa number bond to represent this
problem.

58’4 )

@5 () &
(l%(s +7) 4 (i9052) + (Ut :2)
<T00 r G042

A

IkWCOMMON
CORE Date: 1/6/14
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division algorithm for three- and four-digit dividends.
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L5842 =192,

c. Record your work using the long division
algorithm, v 7 2
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1. Anna solved the following division prolem by drawing an area model.

200 4o 9

3 (000. {120 Al

a. What division problem did she solve?
1% 3 #2499
b. Show a number bond to represent Anna’s area model and represent the total length using the

distributive property. ;] Lf)

) Ci@@o CJ L
(G0=3) + (03 ) (123)

~ 60 + 40+ q
“200 Sy

2. a. Draw an area model to solve 1,368 + 2.

b. Draw a number bond to represent this €. Record your work using the long division

problem, G&hg w algorithm. Z‘i &(’i

P 21308
Qﬂ?(l@<§ '

Q,z,oo‘ 2) ((gzomzf) g 2,,>

- (c)()o F 50 vy T

LIS ——

kW o 08
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1. Arabelle solved the following division pfoblem by drawing an area model.

S 400 ‘4o 7
1—1 | T A ﬂ

a.  What division problerﬁ did she solve? [ XZS{ EL) = L} b 7

b. Show a number bond to represent Arabelle’s area model and represent the total length using the
distributive property. . s

@OGD |
6;@00-%L{).+ @0’0%1-]) . (‘25}: 4)

< oo ¢ 56 + T

= HH ]

2. a. Solve 816 + 4 using the area model. There is no remainder in this problem.

260 i

| go0 | v

= 200 +Y

it 5 )
~ o 204
2 COMMON | tessonss: Explain the connection of the area modg! of division to the fong
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3. a. Draw an area model to solve 549 + 3,

b §o %

e

J00 [zw /9

A
/

b. Draw a number bond to represent this ¢. Record your work using the long division
problem ﬁ—g\ algorithm. .

g)@@b 3t
Goo 3 )+ Q403 ) @ %> 24
= J00 4 %0+ 7
83 g

Q.
4. a. Draw an area model to solve 2,762 + 2.
[, 300
Lﬁ@oo 40 /
b. Draw a number bond to represent this ¢. Record your work using the Iong division
problem. algorithm. { ’% 8 }
212,762

o
.
. , , . O £
el
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1. Use the associative property to fewrite each expression. Solve using disks and then complete the number
sentences.

a.

b.

30x 24
)

A

=(_) x10)x24

"

40x43

) x(10%24)

20

L2

= (4 x 10) x 47(2)
2

-ax(10x]2)

Lesson 34;
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 NYS COMMON CORE MATHEMATICS CURRICULUM |

2. Use the associative property and number disks to solve.

a. 20x27

- Lesson 34 Problem Set.

handreds

fens |opes

=(2x10Y » 27,
-2 = (1D%27)
35[_{(‘) @ ©

b. 40x31

theusand 5

. L
w43
r.,__g—.-’"‘

&«:r<(?\

t’cr)s ( onu«,

=(4a0) X3l
=1 (1023))
= 1240 | o

3. Use the associative property without number disks to solve,

a. 40x34
- (ian\Q) 'x;%‘-“}-‘,,
(103

=] 30

940

(9(&

" b, 50x43

(a 10)x 43
=5 x(}(} "LB
= 2150

!

50

/)OO

4. Use the distributive property to solve the following problems. Distribute the second factor.

= (40x30)
= \}2.06 T HDG
< 300

F (40 )

I ERvN
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1. Use the associative property to rewrjte each expression. Solve using disks and then complete the number
sentences, ’

¢

a. 20x41=
200 < Hi .

-2 % (10 #1))
- 97

2. Distribute 32 as 30 + 2 and solve.

60 x 32
28 COMMON | tesson3a: Multiply two-digit multiples of 10 by two-digit numbers using a n
l I CORE place value chart, eng a.ge y _3.H.1
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